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@ If y = sec™x, o B= o eslS 13l
thenz—i:: ......................... _ i’j o
@ nsec™ lxtanx AL o (D
(b ny tanx Ao @
(©) nycotx e
@ ny O,
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@ The slope of the tangent to the curve: sl polaad) Jus
cos(,/ny )=3x+1atthepoint VEoe Y =( P T\) b
(_—1 ,E),equals ........... (U V=) sl e
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As a spherical raindrop falls, it reaches a S s &9 S tae b lad Lad L
layer of dry air and begins to evaporate at PN Tusy Bl ¢l o il
a rate that is proportional to its surface area Lo 3 loce & s Jimes
(A = 4mr?). Show that the radius of the

: ('3 We=¢)
raindrop decreases at a constant rate.

[N PR P S P S IS B
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10—cos x
@Ify = ————, prove that: ol — - ,
x —— = S
d’y dy d

3 0 F 2 o CosXx Y

1

oe s S

b = v+

U oy Yo § v
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@ Ify=(€e*Inx) ,then‘;_y: ........... (u»&g ) = e es§ 13
X
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B

@ e‘x(i—lnx) <U’“§_%ﬂ)w——b @
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@ Find the equation of the tangent to the curve: il kel Dslae 1 o
y = 3x*—Inx PR

=2
at the point (1, 3) on it. ade (¥ V) daidl s
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Determine the dimensions of the rectangle of Ja1s £ al) Jdatecad) slal o
largest area that can be inscribed in the right

. .ol . \) . \ T \
triangle shown in the figure . 055 Ly YA, g2 S

o le ST s Le
4 cm li
4%33@%3@ Lm“
| |
—— 3 cm — e
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In x3 Y5
@f dx: ............................. =u—~57_‘b

Inx o)

@3X+C @§+C 04_%_@ &_f_w‘«@
©3+c¢ @ 3x2 + ¢ ei'r ® el ®
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Let f be the function given by: Al 5 oS3
f(x) =x:;1,thenthe function f \:r;w=(u*)>
is decreasing in ............ | ... R RPN EURUNIE
@) ]—oo,—1[ only L V- ()
® ]-1,0[ and [1,00] ]mc\[‘]}oc\—[@
© 10,1[ only lazs 1\ el B
@ ]-o,-1[ and]0,1] 1V esie[ ]V = oo (5)
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@ If the slope of the tangent to a curve at any| gl s o (olad) Joue 587 13)

points (X, y) on it is (a csc? x), where a is (o« o) ads

constant, find the equation of this curve given . .
that the curve passes through the two points wb b e (B ) g5l

(E 5) (3_n 1) ﬂajvms;w\mw,.mi
4 1Ty TS
(Ve T Tye(on T paaad
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: 6 . ;
@ Find fo |x — 4| dx (write your steps) O g '\ \BLr

(ot Ot glas CGS))
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@ The function f (x) = x% - 4 x2 "ot — = () s N

has ... L

(@) one local minimum value and two Sliagdy Ao 500 4 ()
local maximum values. Ao olae

@ one local minimum value and one ity Adoe i Ep @
local maximum value. cAdowe olae

(©) two local minimum values and no W ody Adowe a0 Ol @
local maximum values. Ao (olae 08

(@ two local minimum values and one By i g e O3 ()
local maximum value. Ao olae
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Let f be the function , defined by : FC\ [ FEPCIH L
f(x) = ﬁ , then the absolute minimum | ¢ s ae@l o6 :; - ()
value of fis ..o Sl > A1 Aalad)

1 \
@e G = © = O
© Ine @ —e e PRES
-
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@ Answer only one of the following two question:
(A) Find the values of @ and b such
that the curve of the function
y = x3 + ax? + bxhasan
inflection point at (3, -9) , then
determine the local maximum and local
minimum values of the function.

(B) Find the absolute extrema values of the
function f , where f (x) = 2 x%e*
x € [-3,1]

1 dadd (e L (ol gt | | (e e

IS G P 5o S o vami ()
uwg-l—'w[’%{,w:uo;}\u\!\u;zw
(A= ¥) Aakd) sie B! il
Sially il ) e
A1l i)

Galadl gyl o) st gf ()
ziu.g:n > AS\JJJ

o Y
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The volume of the solid generated by 032 oo (AU ) oo
revolving the region enclosed by the curve e o BJJ—ﬁ’“i | ddlail
y = 2x? andtheline y = 8x "‘A:Lij V*“““j‘ﬁ‘i\';"”

Ol a 5
a complete revolution about the x-axis is WA 2
................ 6_5\.“3
equal to ..... '

8 A

@ m[ (8x-2x*)dx wsy(b»v_uw/\)l T (O
2

4

® f0(8x—2x2)2dx wﬂ(b»v_w/\)‘\ T ©
4 2

© m [;(64x* - 4x*)dx uws(iu‘i—'w'\i).\ T &
4 {2

@ m [[(4x*- 64x%)dx uﬂs(bﬂi—iﬁi).\ T (3
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@ The area of the region bounded by the curve 3) grame) ddlaiell dois
y = x3and the straight lines: T = e sl
y =0 ad x = 2 Voo o0 = o2 Olesitadlls
equals ............ unit of area. cAle Bl So\lus

@ 8 ® 4 : @ NO)
©2 @ 1 O v
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Answer only one of the following two question: | , s.zs ;o oot wni foe can
A) Use integration by parts to find: 3l 16528 JolSl st (1)

[x3+V4— x2dx oS *w—i\,\‘wl

v .
B) Find [ sin® x dx oS o 1 sl (&)
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